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p] 107, 100
= 13,770
Al 32,130
(2)2UHA100 HBASHE 2 200,000 206,250 £6,250
p] 60,000
Al 40,000
307 LI2t0IF 200,000 206,250 £6,250
p] 160,000
Al 40,000
IO EES 200,000 206,250 26,250
O=2QHHI00 SFHALISHE 2%
200,000,002 * 14! 200,000
p] 160,000
Al 40,000




25 M=
M M0zt (2L A/NF)
o2l dsEd =4 (G2 &)
- - - dMEE =
2A -3 A2(ZH) - MIRAR - BES 04| Ao O AkoH Hlns2
(DIANZHEESSHIIESLEXE 1,385,400 1,385,400 0
= 149,000
Al 1,236,400
307 2IZt0IA 1,385,400 1,385,400 0
o= 149,000
Al 1,236,400
02 DIZIABAAIHE X 1,385,400 1,385,400 0
OAgE(S4A, 284 ,24%) 84 X
1,385,400,000& * 1A 1,385,400
& 149,000
Al 1,236,400
(Z)A2MENSX SN D SHIXIH 15,600 14,400 1,200
= 4,680
Al 10,920
307 2I2H01A 15,600 14,400 1,200
== 4,680
Al 10,920
02 DIZHEAIAIH E T 15,600 14,400 1,200
OMEHISXIEX WEH X
100,000& = 13Y » 123 15,600
< 4,680
Al 10,920
(S)HOHIMEH S =X WSHI XA 1,200 1,200 0
< 360
Al 840
307 2I2t01A 1,200 1,200 0
= 360
Al 840
02 DI2HBAIAIH E T 1,200 1,200 0
OO MEMSK A WEHl X
100,000& * 19 = 123 1,200
& 360
Al 840
(Z)MENHSKEA =X 8,640 8,500 140
= 2,592
Al 6,048
307 QI2t0| ™ 8,640 8,500 140
< 2,592
Al 6,048
02 DIZHZ AN E X 8,640 8,500 140
OMESKIEX 25245 X2
8,640,000& * 1A 8,640
= 2,592
Al 6,048
(D)NEHSWASIAXI 28,800 28,800 0
== 6,060




25 M=
M M0zt (2L A/NF)
o2l dsEd =4 (G2 &)
- poE =
2A -3 A2(ZH) - MIRAR - BES 04| Ao 'Oﬂ'lﬂ_w” Hins2t
Al 22,740
307 2I2t01A 28,800 28,800 0
& 6,060
Al 22,740
02 DI2HEAIAIH E X 28,800 0 28,800
OMEELA(ET, HUA S) 29
28,800,000& * 14 28,800
& 6,060
Al 22,740
(Z)DFAADICHEHEI R K& 240,000 240,000 0
= 30,000
Al 210,000
307 2IZt0IA 240,000 240,000 0
o= 30,000
Al 210,000
04 DIZISHAAIE 2 X 240,000 240,000 0
O FABAOIIEUS 240,000,000 = 14| 240,000
o= 30,000
Al 210,000
(Z)YF=EHIBHE 2R OHE 60,000 60,000 0
o= 10,000
Al 50,000
307 2I2t01 & 60,000 60,000 0
== 10,000
Al 50,000
04 QIZFSHAIAIIE 60,000 60,000 0
OHMI4g| EFAHIHH &= ZEUI2HE
60,000,000& * 14 60,000
< 10,000
Al 50,000
(SIMAHLIELIAE =AU HEIXI 600,000 0 600,000
== 122,000
Al 478,000
307 2I2t0IA 600,000 0 600,000
o= 122,000
Al 478,000
04 BIZISHAAIAE X 600,000 0 600,000
OHMIAHLIELIAE =AU HEIXIS
600,000,000& * 14 600,000
T 122,000
Al 478,000
(Z)HE2AEHAE X 51,781 0 51,781
= 51,781
307 2IZt0IA 51,781 0 51,781
o= 51,781
02 QIZIAAIAIAE X 51,781 0 51,781




2M: HSHED
HE: HS0ITo PE(SHUBB/IS)
ool Hssd T (Erol: &)
SN - BB B - NBAR - BYS Ofl Aot daz MimE==
0l &k
OF=ZAEHNE HI|&HS
25,181,000& * 14! 25,181
< 25,181
OF=2A8HE 22 KA 26,600,000 * 14! 26,600
[ 26,600
HIOITAIE 2e|(23Y 22 /M) 329,552 432,307 A102,755
HIO|ZAIE 22| 329,552 432,307 A102,755
AFA NHEHZBE 29 243,496 149,043 94,453
101 o124 52,762 38,369 14,393
04 JIZtHI2E2EXNSE S 52,762 38,369 14,393
OYFAl IHEHSE SSXEAH A 22| 52,762
=JI23 73,2803 * 2 * 300 43,968
—F=FH 73,280& * 29 * 50 7,328
- XRasIIY 73,2803 * 2% » 10L& 1,466
201 LBt2AH| 48,934 44 974 3,960
01 AFR2teld| 5,004 3,004 2,000
OYFAl JHEHSE 2t 5,004
—3l&A HASE P2 50,000& * 12& 600
—3SSANEH UHA AIRESE 28
50,000& = 12& 600
~XENBY TRIE §4 79
200,000& * 1CH 200
— X&) OHMES S48 MIE
60,0008 = 108 600
—XEAZ2J 2HE 2 Hi & X
500,000& * 14! 500
—BYIIETHEE P
1,400 = 200 = 180L 504
— X OHLY BES MIE
2,000,000& = 14! 2,000
02 S32g| 43,930 41,970 1,960
OYFAl INENHSE 29 24,870
R aplL = 500,000& = 12& 6,000
—MolIEER2 80,000& * 12& 960
—S3ANEH 2l
10,000& * 30CH * 120 3,600
—Z2ZXEA el (HIIREH)
10,000& = 50CH = 12J0E 6,000
—3S3MN8H BE 35,0008 = 230CH 8,050
—XFEEO{THOd A LB A A
130,000 * 1CH * 23] 260
OZ2BNENAROIHAHA A 2H 19,060
—&0122 11,420 = 7 = 128 960
—OIHYAIEZE 50,000& = 7JHA = 128 4,200




2A: SIS
M HI0|2AIE Ze2l(23AL2F/HS)
&2l: HHOIZAIE 22l CERE)
s MEC =
S - 3 - R(SH) - MRAY - BAS Ol &k OH '@Eou HwES2
—SUELE =22
10,710& * 7oL * 128 900
—AAE SRES 13,000,000 * 14 13,000
206 M= 4| 4,800 7,200 22,400
01 M=Hl 4,800 7,200 A2,400
OXNEN =2IFZ 20,0003 » 20& » 128 4,800
207 AN 50,000 0 50,000
01 &4 50,000 0 50,000
OZ=Al UHEH0IE 2435 HE 849
50,000,000 * 14! 50,000
401 AIEHIZ 20HEI 65,000 10,000 55,000
01 Al&H] 65,000 10,000 55,000
ONEANBE AEE |RXE=>
10,000,000& * 14l 10,000
OXEHBE =2 HUISAH
40,000,000& = 14! 40,000
OXENZBR 24 Y=3At
15,000,000& * 14 15,000
405 XHHH S 22,000 48,500 226,500
01 I Z2FFH S| 22,000 48,500 26,500
OZ3NHEH 7Y 350,000& = 20CH 7,000
O&IINEH 7Y 1,500,000& = 10CH 15,000
NENE=Z HES 86,056 283,264 A197,208
101 @124 32,976 62,784 N29,808
04 JIHH22 RS E= 32,976 62,784 A29,808
OHto| gtz =8 EHD| 1LY
73,280 * 159 * 30 32,976
201 ety 6,160 8,560 22,400
02 Z524| 6,160 8,560 22,400
outo|Zegz dH MIIRS
50,0002 * BIHA » 123 3,000
Oto|aEY =2 &R MERS
400,000& * 13 400
OHlo| 2z &HH SEA 2aaH
200,000& * 14 * 33 600
O=MAZENE Y B
100,000& * 442 » 33 1,200
O=sMZZENE &) & ==
20,0002 * 4JHA » 123 960
206 M= 4| 1,920 1,920 0
01 =4l 1,920 1,920 0
OHlo| Az &H SIHAEE 7
80,000& * 123 960




2 HSEED
M HO|TAE Rl(2SUR/HS)
©9l: Hlol2AlE 22 (=E LD
- _ _ HEAS
S - 3 - R(SH) - MRAY - BAS Ol &k OH 01l AkoH HwE2
O=SEZENY sRasE 7y
80,0002 * 122 90
401 AlZHI L2 45,000 210,000 165,000
01 AIZH] 45,000 209,370 A 164,370
OBl AR AILE HESTA
40,0002 * 500m 20,000
OSMBRENE ALS H2HBA
1,250,0008 * 474 5,000
ONBEXI 2T C2 BRIS0| T HXIZA|
80,0002 * 250m 20,000
NI 2SH (2B H =) 458,745 675,249 £216,504
20FSHE 22 49,825 86,290 136,465
S SHE AR 44,825 81,290 136,465
101 Q121| 4,397 4,186 211
STE EE 4,397 4,186 211
OZHSHE S 2|
73,2808 * 22 * 30 4,397
201 LBr2 | 40,428 37,104 3,324
02 222 40,428 37,104 3,324
OE=Al W24)| SRz
3,000,0002 * 1CH 3,000
OS4280| that SxIze
200,002 * 5IHA 1,000
OFIINE SEDF 2,000,008 * 144 2,000
OJIH, &bl 2+ 2,000,008 * 144 2,000
O3Z AEZS HIIQEEY LA +42
5,000,0002 * 23] 10,000
OR%Z Ha 1,000,0002 * 1744 * 23] 2,000
OYLIE| o128I(ZR)
1,38021 * 704 * BAIZH x 10 7,78
02 BA 242 00,0008 * 13 100
OR4E £TBA 242 100,0002 * 13] 100
OME 22| FIIFY o 24
2,000,0002 * 2C 4,000
OME A= grod 1,000,0002 * 23] 2,000
OAALME STl 1,500,002 * 14 1,500
OFI| S5HEll BUFZ 5,000,002 * 14] 5,000
HEXSH AL 5,000 5,000 0
201 LBre| 5,000 5,000 0
02 2223 5,000 5,000 0
OFIINE SX2% 1,000,0002! * 14] 1,000
OJI3, &Hl 2 STz
500,008 * 2T 1,000




SA: HKIED
M ADSSEHUL|(SIILBR/HK)
cHel: ZOIHSAEH 22 (Sl H2)
o % = - AT
SA - HH . AA(SH) - HIRAY - BES O AtH Ol Aron Hn=2
\ \ OA=2 KAL) 3,000,000 * 14! 3,000
HSAlE2e) 408,920 588,959 180,039
Algl2E= 22| 265,344 259,654 5,690
201 LBt HH| 263,034 257,974 5,060
01 AL222IH 6,722 4,640 2,082
OsEA2E 7 50,0009 * 122 * 4044 2,400
OMYDIEZHEE 7
1,6802 * 1004 * 140 2,352
OAlRI2EE B=2D| 2
70,0009 * 3% * 63 1,260
OAIRI2SE H4D| BE| 30,0008 * 12% 360
OJIZH2E Xt HES 70,0002 * 5% 350
02 2229 256,312 253,334 2,978
OY2IHIOIH SXI2t2] ha
220,0002! * 20 * 122 5,280
OAYAIE SSEUFZH  1,000,0008 * 5HA 5,000
OAYAIE RSI|ISEHZY  1,000,0008 * 5HA 5,000
OAZIAIE HARX 22| CHE
125,0002 * 5)HA * 12 7,500
OALIAIL LY S22l 1,800,000 * 14l 1,800
OgtsAlE RXES 2,400,0002 * 14l 2,400
Odstl ez 2,0002! * 2,000kg * 2 8,000
OdmA 222 HZH|(AUSR)
960 * 2,7004 * 42 10,368
OZXZ4 AMARZ 2 MH2R
4,500,000 * 13| 4,500
OSSH FH S EZHD| =Y
2,000,0002 * 33| 6,000
O3t&Al T4t 22l 200,0008! * 44! 800
OF3se2 50,0008 * 12% 600
OIS (LBtnet) 12,900,0002 * 12% 154,800
O3 (Alorxa) 900,000 * 12 10,800
OFIIR2(ItZS) 45,0002 * 122 540
OXMI|L3(LBKL) 350,000 * 12% 4,200
OFI|&H| HIIZAf 1,500,000 * 13| 1,500
Oastecaa 1,900,0002 * 122 22,800
ORMgs A2 34,1008 * 12% 410
OALIHN B IH| 50,0002 * 13 50
@rSEPIETIRSE 100,0002 * 13 100
Osls2@ext o3l 36,0002 * 13 36
OXH2 ®II&H| FI|ZA
2,000,0002 * 14l 2,000
Odsiy B82 100,000 * 13 100




pal
o

aat

-~

=

t

SN HSTED
M A 2sSH2 (2L AS/MS)
=2l MsAL2te (Gt
S - FHE - 9l(SH) - NIRAY - BaS Ol Akt Dl HIDE2
. S [} - S/ == 0:"&.0_‘” WsSa
ONOI2EE 15 9o
36,000& * 43| = 12& 1,728
206 M= 4| 2,310 1,680 630
01 M=zl 2,310 1,680 630
A1 &Cj2els gz
5,000& * 100% 500
O=20I1F FORRUE 5% 7Y
6,000& * 35 * 2004 360
OAldae] &7 7Y 10,000& * 20& * 23| 400
O&tIZII8 Zi+ 7003 * 250& * 6 1,050
MBS AlIL2] 143,576 329,305 A185,729
101 21244| 34,296 16,325 17,971
04 I H22SE 34,296 16,325 17,971
OASIZsE 22 &I 34,296
—Jl2= 73,2803 » 2% = 180 26,381
—=549 73,2802 * 29 * 44 6,449
—E Xt 73,280% » 2% » 10 1,466
201 Let2ZH| 5,480 6,480 21,000
02 S22 5,480 6,480 21,000
OMEH =2 MI|IEH FAE=
750,000& * 23| 1,500
OHdE=2 JIH, U2 |2+
500,000& = 14! 500
QUEISZ A5 UA 1,000,000& * 23| 2,000
O¥stx A 12,000& * 40m* 480
OANRI2sE A=EE sAl2el
1,000,000& * 14! 1,000
401 AIEHIZ 048I 103,800 306,500 A202,700
01 Al&HI 103,800 306,500 A202,700
OF2IT B HIE, M2 L 24
12,000,000& * 14 12,000
OANEI2sHE AldE /A 2=
2,500,000& * 4004 10,000
O3JIM=I&H ANEE R/l B
3,000,000& = 14! 3,000
OANRIZSE Z=2)|E £7220H &3
4,000,000& » 1X 4,000
OM=s2 BHEQE X==0 & A& &X
5,000,000& * 1= 5,000
OZ0MSHYH detE8ee 320 2E WX
4,000,000& * 14! 4,000
OB=EIF, TAIT BY 25
30,000,000 » 14l 30,000
O=0IMSHE OtFHE MY ZAL
16,000& * 1,300m 20,800




SN

HHM: AQI2ST2|(23L22/HIK)
Sl MSAlL2e (S &)
o < ol (= o - HET =
SA - ZH - AA(3) - MIRAY - BHAS Ol &b2H Ol Avon Hws2t
OAIBI2=R =81 22 M AL (ZCIE0{0lAH)
15,000,000 * 14| 15,000
HYAAYI(MSEED) (DIEHIIEH 143,142 144,044 A902
o2l 143,142 144,044 ~902
J|123| 143,142 144,044 A902
201 LBt 50,622 60,584 A9,962
01 AF222lHl 50,622 60,584 A9,962
O=AEX 7 16,0008 » 229tA « 12% 4,224
OS20HA] 7,00024 * BA! x 22 « 128 11,088
OLte22 100,000 * 12& 1,200
OARE A7 50,0002 * 12% 600
OARZLHY| 10,290
—=SADI(THE) %2 1,000,000& * 1.5CH 1,500
—Taly 2 100,00024 * 5CH * 50/100 250
—2AD| €4 200,0008 * 53|  1.50H 1,500
—TRIE EH(S%)  200,0002 * 53| * 504 5,000
—TRIE EW(Z2)  200,0002 * 53] * 1CH 1,000
—PC =2l 100,000 * 22CH * 20/100 440
—JIEF #=2lbl 50,0002 * 12% 600
OJIE AFR2H2IH 5,0008 * 22 * 12% 1,320
O 21,900
— SR (M-S E)
60,0002 * 1% * 365 21,900
202 094 87,120 78,660 8,460
01 =404t 87,120 78,660 8,460
O] 20,0002 * 22 * 12 « 12€ 63,360
O/ 01| 90,0009 * 22 * 12 23,760
203 LRI 4,200 3,600 600
04 BANSILREXH| 4,200 3,600 600
ORANSIL R 350,0002 * 12¢ 4,200
204 XA 1,200 1,200 0
01 NI ARRBHAHY| 1,200 1,200 0
ONHUZALLHAL| (MK SUE)
100,0002 * 1% * 12& 1,200






